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ECONOMICS (Honours)
Paper Code : V-A & B 

[New Syllabus]
:<

' «

Full Marks : 100 Time : Four Hours

Important Instructions 
for Multiple Choice Question (MCQ)

• Write Subject Name and Code, Registration number. Session and Roll 
number in the space provided on the Answer Script.
Example : Such as for Paper.m-A (MCQ) and m-B (Descriptive).
Subject Code.: in A & B

Subject Name : " ~~~

• Candidates are required to attempt all questions (MCQ). Below each 
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only 
of these alternatives is 'CORRECT' answer. The candidate has to write 
the Correct Alternative [i.e. (A)/(B)/(C)/(D)] against each Question No. 
in the Answer Script.
Example — If alternative A of 1 is correct, then write :

1. - A
• There is no negative marking for wrong
• No student will be allowed to leave the examination hall before 

completion of the examination.
• Using abusive language or employing any other unfair means, he/ 

she will render himself/herself liable to disqualify.
• Use of any mobile phone, calculator or log table etc. in the 

examination hall is prohibited, except specially instructed in the 
question paper.
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Paper Code : V-A(MCQ) W$
Full Marks : 20 Time : Thirty Minutes

• (Subject) ^ (MS,
ct*pt 'em~$j3\

to,
Choose the correct answer. 

Each question carries 2 marks.
|

CW Paper ffl-A (MCQ) ^ m-B (Descriptive) I 

Subject Code : IE|a|&|b 1. Coefficient of variation is defined as —

SDSubject Name : ___________ • 1

• (mcq) ^33 fes toi sfim to
^ TOTO (A), (B), (C) ^ (D) TO OTTO 

^ (A) /(B)/ (C) / (D) >i[m>
^5<HC3 I^MCva TO I

^ 1 SftTO >($<}> A ^?T \TO trie's :
1. - A

• lp[ TOJ CTO CTOfi^e CT^ |

• CTO TO^tC^ ’ff^tfc^ <#TOTOi%T ’ftt^TOCTO TOTO
OTTO 'TO ^ i.

• TOlf|\s CTO TO TOTO TO TOtf (^7(| TOrrof

TO <JlIvsc«lf] TOJ ftc^ trfftt TOOTI

• afeMtSf ferPfa fTOOT t%f% TO *i%TOW CTOI^T CTO, TOlfOTfe 

TOOTf TO-C5%f rvsjIR toto ftfTO I

xlOO(A) Mean

MD xlOO(B) Mean

SD
xlOO^ Median

^5-xl00
^ Mean

2. Consider the observations below
10 13 18. 22 29. The value of median is —

- (A) 22

(B) is
(C) 20.5

(D) 20

3. The term ‘statistic’ is related to —

(A) Population

(B) Sample .

(C) Correlation analysis

(D) None of the above

Turn Over
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4. Two regression lines will be perpendicular when correlation coefficient is — 

(A) +1
8. Rank correlation is appropriate when observations are —

(A) Quantitative by nature

(B) Qualitative by nature

. (C) A mix of Quantitative and Qualitative

(B) — 1
(C) 0

<P) .2
'■!

(D) Both (B) and (C)5. Correlation coefficient does not depend on__

(A) Change in origin of the observations

(B) Change in scale of the observations

(C) Units of measurement of the observations

(D) All the above

6. Which of the following index number formula is called id

(A) Laspyres’ index

(B) Paasche’s index

(C) Fisher’s index

(D) Bowley’s index

7. According to multiplicative model of time series, output may be obtained as —

(A) Geometrical Method

:
9. Standard Deviation calculated from first n natural numbers is —•i

(A)

(B)
eas —

«(« + !)
(C)

<P)

-. The value of mode will be —10. For a Poisson distribution, n-9, P = -

(B) Trend x Seasonal variation + cyclical variation

(C) Trend x Seasonal variation x

(D) Trend x Seasonal variation x

* Random variation 

cyclical variation x Discrete variation
(A) 2, 3

(B) 2
cyclical variation x Random variation * (C) 3

(D) 2.5

Tarn Over
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P-m (1+1+1) H/19 (N) 4. (a) In order to find correlation coefficient between two variables X and Y 
from 25 pairs of observations the following calculations were made
n-25, LX = 125, 'LX2 = 650, LY = 100,LY2 = 460,LXY = 508. Subsequently 

it was found that the pair (6, 8) was wrongly copied instead of (8, 6). Find the 
correct correlation coefficient

2019

ECONOMICS (Honours)
Paper Code : V-B 

[New Syllabus]

' Mi • * • \ ^

(b) Find the rank correlation coefficient of the following marks obtained by
10 students.

Full Marks : 80 Time : Three Hours Thirty Minutes 

The figures in the margin indicate full marks.
Math : 80 38 95 30 74 84 91

Stat : 85. 50 92 58 70 65 88
6+4

- xHiiHoiA ’•Section -1

[Short Essay Type Questions) 5. Using the following data verify that Paasche’s formula does not satisfy time 
reversal test as well as the Factor reversal test:

r *
Answer any four questions. 10x4=40 Commodity 1979 1980

: Price Quantity Price Quantityp
1. (a) Show that for a given set of observations the sum of the square of 

deviation is the minimum when deviations are taken from their AM. Rice 32 50 30 55
Barley
Maize

30 35 40 30
(b) If the AM of two . numbers is 10 and GM of the same numbers is 8. 

Find the HM of those numbers.

2. (a) Find the missing frequencies if the Median of the following distribution "

1816 50557+3
6010 40 8Comr

is 46 10
Marks : 10-20 20-30 30-40 40-50 50-60 60-70 - 70-80 6. (a) State the different component of time series.

(b) Fit a straight line trend equation by the method of least square and 
estimate the value of 1969.

Year. :
Value :

Students : 12 30 ? 65 ? 25 18

(b) Two samples of sizes 40 and 50 respectively have the same mean 53 
but different SD 19 and 8 respectively. Find the SD of combined sample. 6+4 '' 1960 1961 1962 1963 1964 1965 1966 1967

300 400 650 720 • 690 600 870 930

2+8=10

■•iv.

3 . Calculate coefficient of skewness of the following distribution using Pearson’s
formula: 10

15.514.5 16.5 17.5 18.5 19.5 20.5 7. Prove that the Mean and Variance of Poisson distribution is same.21.5 10x :

f: 4035 48 100 125 87 43 22
Turn Over
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(b) Calculate the 1st four central moment of the following frequency8. (a) Distinguish between Statistic and Parameter.

(b) What do you mean by Type I and Type II error.
distribution.

5+5=10
0-10 10-20 20-30 30-40 40-50Class interval : 

Frequency .Section - II
[Essay Type Questions]

12431
10

12. (a) X is a discrete random variable having probability mass function :20x2=40; '' Answer any two questions.

9. (a) State and prove the Addition Theorem of probability for two mutually 
exclusive events. What modifications would you make if the events are not mutually 
exclusive.

6 74 53210X:
P(X-x) 0 K \2K\2k\3k\k2\2K2\iK2+K

(b) Two dice are thrown simultaneously what is the probability of getting 
the sum total of face value ten, atleast ten and almost ten.

(c) Write down the properties of Standard normal distribution. 6+8+6=14

(i) Determine the constant value K.

(nj Find P(X<6)

(iii) Find P{X > 6)

(b) Six coins are tossed in succession. Find the probability of getting more 

than 4 Heads and also almost 3 Heads.

(c) If a random variable X follows a Poisson distribution such that 

P(X = l) = P(X = 2). Find P{X = 0).

(d) State the two main properties of probability density frmction (p.d.f). 
w 6+6+6+2=20

6

10. (a) Find two regression equations from the following data :

11 14 14 17 17 21 25

15 27 27 30 34 38 46

Also estimate the value of Y when X is 40.

X
•.

Y

(b) Show that the value of Rank correlation lies between -1 to +1.

(c) For the following lines of regression find the mean of X and Y.
8*-100y + 66= 0 

40x-l$y 10+6+4= 214 •

11. (a) The number of runs scored by cricketers A and B during a test series 
of 5 test matches is shown below for each of the 10 innings.

A : 42 17 83 59 72 76 64 45 40 32

0 59 108 82 34

make a comparative study of their batting performance.

B : 28 70 31 3 95

10
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P-m (1+1+1) H/19 (N)
2019

ECONOMICS (Honours)
Paper Code : VI-A & B 

[New Syllabus]

ii

Full Marks : 100 Time : Four Hours
::
!! . Important Instructions 

for Multiple Choice Question (MCQ)
• Write Subject Name and Code, Registration number, Session and Roll 

number in the space provided on the Answer Script
Example (Such as for Paper IH-A (MCQ) and DI-B (Descriptive).
Subject Code : HI A & B

Subject Name : " ~ “~-

• Candidates are required to attempt all questions (MCQ). Below each 
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only 
of these alternatives is 'CORRECT answer. The candidate has to write 
the Correct Alternative [i.e. (A)/(B)/(Q/(D)] against each Question No. 
in the Answer Script
Example — If alternative A of 1 is correct, then write :

1. - A
• There is no negative marking for wrong answer.
• No student will be allowed to leave the examination hall before 

completion of the examination.
• Using'abusive language dr employing any other unfair means, he/ 

she will render himself/herself liable to disqualify.
• Use of any mobile phone, calculator or log table etc. in the 

examination hall is prohibited, except specially instructed in the 
question paper.
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i

Paper Code : VI-A
(MCQ) vSf^ft

• T§^3?[*r[131 RtftPfo ^RTT R^d (Subject) ^\ C<fTO, *T^,
(TffF? ^\ *^<3 ^c<51

:©^t^ct — CW Paper' UFA (MCQ) <*R\ m-B (Descriptive) I 

Subject Code : HI A & B

Full Marks : 20 Time : Thirty Minutes

Choose the correct answer. 

Each question carries 2 marks.

1. Trade can not take place between two countries when there is —

(A) Equal cost differences •

(B) Absolute cost differences

(C) Comparative cost differences

Subject Name :

• ?m9\ (mcq) fes
i (A), (B), (C) p) ^ (Trent

^ (A) /(B)/ (C) / p) R^lBw* stet to

^ 1 A ^?T '3J3 :
L - A

• 'SrHi (TTC^lft^s ^|R>\ I

• C^H *f*t <D<^^ ^1 C^t^t t%<3
U3/^ft ^ 'SRJ Rc«7$ *ftft I

• SfsMCT Rg'tPFs Rw*t .Ijwt OTfq,
■ . Wftt ^-C5% Rfe I

p) Technological difference

. 2. Labour theory of value implies —

(A) Labour is the only factor of production

(B) All labour is of the same quality

(C) Both (A) and (B)

P) Labour and Capital are two factors of production

3. Offer curve is also known as

(A) Terms of trade

P) Reciprocal demand curve 

(C) Production possibility curve 

P) Trade indifference curve

Turn Over
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4. Theory of Comparative Advantage was developed by —

(A) Adam Smith

(B) Marshall

(C) David Ricardo

(D) Lemer

. 8. The condition of efficiency in a 
and Private good (X) requires —

world consisting of a pure Public (G) good

(A) MRS = MRTX,G

(B) XMRS

(C) YsMrsxg*MRT

(D) None of the above

= MRTX,G

5. GATT was set up to promote —

(A) Multilateral trade

(B) Bilateral trade

(C) Mutual trade

(D) Regional trade

9. Lump-sum tax is like —

(A) Variable cost

(B) Fixed cost

(C) Quasi fixed cost 

- (D) Cess

6. Pattern of public expenditure is governed by —

(A) Customs and habits of people

(B) Deliberate economic policy of Govt

(C) Desires of the dominant social group

(D) The state of private business activities

7. In case of public goods, if amount is increased, AC tends to —

(A) decrease

(B) increase

(C) indeterminate

(D) remain constant

10. In case of progressive tax system —

(A) tax rate is proportional to income

(B) tax rate decreases as income increases

(C) tax rate and income are not related

(D) tax rate increases at a higher rate to increase in income

Turn Over
( 4 )5/122-500
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P - III (1+1+1) H/19 (N) Section - II

[Essay Type Questions]2019

ECONOMICS (Honours)
Paper Code : VI'-B 

[New Syllabus]

Answer any owe question.

5. (a) What are offer curves and how are they derived ?

(b) Distinguish between offer curve and ordinary demand or supply curves.
i

(c) How is equilibrium terms of trade determined with the help df offer
7+5+8=20

\Time : Three Hours Thirty Minutes 

The figures in the margin indicate full marks.

Full Marks : 80

curves ?

Group - A

[International Trade]
6. (a) Explain the concept of optimum tariff.

(b) How would you measure.optimum tariff ?
Section -1

[Short Essay Type Questions]
(c) Prove the superiority of optimum tariff over free trade. 6+7+7=20

Group - B 

[Public Finance]
Answer any two questions.

1. (a) What is the basis of international trade discussed by Adam Smith ?

10x2=20

Section -1
(b) What are the main drawbacks of Smith’s theory. 5+5 / [Short Essay Type Questions]

2. State and explain Rybczynski theorem. 10
Answer any two questions. 10x2=20

3. Write a short note on World Trade Organisation. 10
7. State and explain the characteristics of public good.

8. Write a note on Equal Sacrifice Principle of Taxation.

10

4. (a) Distinguish between balance of trade and balance of payments. 10
(b) Distinguish between current account and capital account of the balance

9. Write a note on excess burden of taxation. 10of payments. 5+5

10. What is fiscal policy ? State the main objectives of fiscal policy in the 

underdeveloped countries. 10

Turn Over- w* •
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]

Section-II

[Essay type Questions]

20x1=20Answer any one question.

11. (a) Discuss the Benefit approach towards the determination of the tax share 
of an individual.

10+10=20(b) Do you think that it is always regressive in nature ?

12. (a) Distinguish between internally held public debt and externally held public
debt

■ (b) Explain the consequences of rapid raise of public debt of an economy, 

(c) Suggests some measures to reduce the burden of public debt
6+8+6=20

t

* .

. ( 8 )5/122-500
*

UGB_UG_Question_ Economics Honours_Part-III_ Examination_2019

Digitized by the Librarian, Central Library, Malda College, Malda on 27th  December, 2019, Page -10 of 18



ii
i

?!

P - m (1+1+1) H /19 (N)
•i

2019:

ECONOMICS (Honours)
Paper Code : VII-A & B 

[New Syllabus]

;
■■

1
\

Full Marks : 100S Time : Four Hours

Important Instructions 
for Multiple Choice Question (MCQ)

• Write Subject Name and Code, Registration number, Session and Roll 
number in the space provided on the Answer Script.

Example : Such as for Paper 1U-A (MCQ) and HI-B (Descriptive).

Subject Code : m A & B “

Subject Name :

•- Candidates are required to attempt all questions (MCQ). Below each 
question, four alternatives are given [i.e. (A), (B), (C), (D)]. Only 
of these alternatives is 'CORRECT answer. The candidate has to write 
die Correct Alternative [i.e. (A)/(B)/(Q/(D)] against each Question No.' 
in the Answer Script.

Example — If alternative A of 1 is correct, then write :
1. - A

• There is no negative marking for wrong answer.

• No student will be allowed to leave the examination hall before 
completion of the examination.

• Using abusive language or employing any other unfair means, he/ 
she will render himself/herself liable to disqualify.

• Use of any mobile phone, calculator or log table etc. in the 
examination hall is prohibited, except specially instructed in the 
question paper.

S

1
\s

;!

one

:
1

!

i:

•y 5/123-500
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Paper Code : VII-A

• t^jfpFo Rq«T3 (Subject) ^\ C^t®, '

OT^R ^R\ (RRT I

^ft^«t — CW Paper DI-A (MCQ) 4<R IH-B (Descriptive) I 

Subject Code : HI A & B

Full Marks : 20 : Time : Thirty Minutes

Choose the correct answer.I

Each question carries 2 marks.

1. Prof. Amartya Sen explains the concept of development in terms of expansion 
of—

i •

;
‘i

(A) basic capabilities

(B) range of choices

Subject Name : - _______ 1 ______________________

• (MCQ) ^33 feo I #ft>-£ft?St Ft# <RR

'mH (A), (B), (C) cwm
- X5R vrW (A) /(B)/ (C) / P) Sftt

— # 1 ^33 A W3 ^C<1 :
1. - A

• 3^1 (R>R (Rt#3 '5#\ (R^ I

• (R>R Rf'SRR ;
(W?rt ^rf(R Rt i

• .^Rtf^^ C^R *pf RR^R RRt WR1 C^tRt ^SRSEsf j%^ ^fR^T 

iR/^fft 3R *tfh*t Rtf^R WRJ R6&£ Rft ^IR^R I

• jRprf*t3 1%*R 1%f*t ^T5t CRRI^f C¥R, Wr <£(#<!
WRf ^-C5%f ^\sj]R <d<i^R Rfe I

(C) both (A) and (B)i

P) none of the abovet ;

2. The Balanced Growth Theory was propounded by — 

(A) Rosenstein Rodan 

P) Hirschman 

(C) Kindleberger 

P) Rostow

r

3. Gini-coefficient ranges from —
j.

(A) 0 to 1

(B) - 1 to + 1

(C) 0 to oo

P) 1 to oo

Turn Over
( 3 )5/123-500
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4. The Incremental Capital Output Ratio (ICOR) determines a country’s level of__

(A) Investment efficiency

(B) Saving propensity

(C) Production efficiency

(D) Consumption efficiency

5. According to Demographic Transition Theory, total population is stable when —

(A) birth rate is low and death rate is high

(B) birth rate is high and death rate is low

(C) birth rate and death rate both are low

(D) death rate is

6. Which of the following is not 
Reserve Bank of India (RBI) ?

(A) Minimum margin requirement

(B) Ceiling on the amount of credit

(C) Statutory Liquidity Ratio (SLR)

(D) Discriminatory rate of interest

7. Indian tax system is _

(A) Regressive

(B) Progressive

(C) Proportional

(D) Both Regressive and Proportional

8. - The New Economic Policy (NEP) in India was adopted in the year -

(A) 1988

(B) 1993

(C) 1991

(D) 1990

9. Which of the following tax is levied by the State Government ?

(A) Income Tax.

(B) Export Duty

(C) Agricultural Income Tax

(D) Custom duty

10. Income generated from Tourism can be placed in which among the Mowing —

(A) Invisible import

(B) Invisible export

(C) Visible import

(D) Visible export

zero

a selective credit control method used by the

— in nature.

' N ?•>

Turn Over5/123-500 ( 4 )
5/123-500 ( 5 )
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P - III (1+1+1) H/19 (N)
6. (a) What are the different concepts of disguised unemployment ?

2019

ECONOMICS (Honours)
Paper Code : VII-B 

[New Syllabus]

N
8+12=20(b) Explain Sen’s theoretical idea of surplus labour.

Group - B

[Indian Economic Issues and Planning]
Full Marks : 80 Time : Three Hours Thirty Minutes 

The figures in the margin indicate full marks.

Group - A

[Development Economics]

Section -1

Answer any two questions.

1. (a) Distinguish between economic growth and economic development

(b) State and explain some obstacles to economic development of under 
developed countries.

2. Explain critically Leibenstein’s Minimum Effort theory of development.

3. Discuss briefly Rostow’s different stages of Economic growth.

4. Illustrate the ‘Two-Gap model of Economic development.

Section - II

Answer any one question :

5. (a) Describe Harris-Todaro model of rural-urban migration.

(b) Suggest some policies to reduce urban unemployment in the context of 
the mode!. i2+8=20

Section -1

10x2=20Answer any two questions :

7. Describe the trend of India’s Balance of payments since 1991.

8. Discuss critically the current EXIM Policy of the government

9. Discuss the salient-features of the composition of India’s Capital Market 10

10. Discuss the monetary policies adopted by Reserve Bank of India to control 
the credit.

10

10

10x2=20

10f

Section - II

Answer any one question.

11. Discuss some significant consequences of Economic Reforms in India. 20

12. (a) Discuss the performance of Public Sector Enterprises in India

(b) Discuss the changes in the economic policies of the government of India 
towards public sector. 10+10=20

5+5=10 !
20x1=20

!10 '

10

10

20x1=20
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P-m (1+1+1) H/19 (N)
2019

ECONOMICS (Honours)
Paper Code : VIII-A & B 

[New Syllabus]
Full Marks : 100 Time : Four Hours

Important Instructions 
for Multiple Choice Question (MCQ)

• Write Subject Name and Code, Registration number, Session 
number in the space provided on the Answer Script.
Example : Such as for Paper HI-A (MCQ) and HI-B (Descriptive).
Subject Code : in a|&|b

Subject Name : ~ " ---------- 1

and Roll

• Candidates are required to attempt all questions (MCQ). Below each 
question, four alternatives are given [i.e. (A), (B), (C), (D)l Only 
of these alternatives is 'CORRECT' answer. The candidate has to write

sSp^6 P-e' (A)/(B)/(Q/(D)] a§ainst each Question No.

one

Example - If alternative A of 1 is correct, then write • 
1. - A

• There is no negative marking for wrong
• No student will be allowed to leave the 

completion of the examination.

answer.

examination hall before

• Using abusive language or employing any other unfair 
she will render himself/herself liable to disqualify.

means, he/

• Use of any mobile phone, calculator or log table etc. in the
examination hall is prohibited, except specially instructed in the 
question paper.

r
5/124-500
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Paper Code : VIII-A
(MCQ)

• 1§W?R3' tRFrf*!^ ^R Rrgir (Subject) RtR 4R\ C^5, CRf®rCt|*lR TO, 
• OTRR <3R\' CRM R^R 1%RC^s> I • / • ’...-'

^SntSRSt — CRRR Paper m-A (MCQ) ^R\ DI-B (Descriptive) I

Subject Code : in A & B

Full Marks : 10 Time : Thirty Minutes

Choose the coiTect answer.

Each question carries 2 marks.

1. ‘Open access’ property suffers from the problem of— 

(A) Greenhouse effect

1
j/

i!Subject Name :

• SfcStR (MCQ) ^3R fes l SifeR btflfS <p(<\ 
*TStRJ ^SR, RRmR (A), (B), (C) ^ P) R^CR OTQTTt *IK*I
^tR (A) /(B)/ (C) / p) Rf§R> R<t^fDt<t> sftt r^r

— RlR 1 R^R Rf§R> ^SR A ^ ^CR ^CR :
. 1. - A

• ^ ^SCRR 'SRJ CRlR RtfRs CR^I

• CRRR ^<^1 cvo^ *ffNR%R> *i<l]^lt>qtRR%l RlRCR RMRtR
CWRt RtCR Rt I

• CRtR RJR3}R R>Rf ^iRRt WfaR CRtCRf RRWRC^f RtR>M 

^M/^tft ^fR Rll^CRR W$ fto&TR Rift RtR^R I

• SfcMftR fiwPM fRC*tR RcR^t ^51 *ffH>tRW CRtRt^l .(TFtR, R^I^CrCr 

^RRt ^M-CSfR^T RJR^fR RR^i |

(B) Tragedy of Commons

(C) Increasing Returns to Scale

P) None of the above

2. Market failure occur when —

(A) Property Rights are not defined

(B) There is externality in production

(C) Moral Hazard and Adverse Selection exist 

P) All of the above

3. Identify the suitable policy which can help to reduce pollution —

(A) General Awareness Campaign

(B) Pigouvian taxes and subsidies

(C) Both (A) and (B)

P) None of the above
• ‘"Vi
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4. Coase theorem ensures a socially desirable outcome when —

(A) Polluters are given right to pollute

(B) Victim is given right to pollution See environment

(C) Outcome always ensures social optimum irrespective of who enjoys the 
property rights

(D) None of the above

P-III (1+1+1) H/19 (N)

2019

ECONOMICS (Honours)
Paper Code : VIII-B 

[New Syllabus]
Full Marks : 90 Time : Three Hours Thirty Minutes 

The figures in the margin indicate full marks.5. What are Command and Control Regulations (CAC) ?

(A) Government use price mechanism to internalize the externalities.

(B) Government imposes tax directly on pollution.

(C) Government uses law that directs technology to reduce pollution.
t ■

(D) Government implements subsidy.

Group-A

[Environmental Economics]

Section -1

[Short Essay Type Questions]

Answer any two questions.

1. (a) Explain how externalities may affect adversely the management of 
‘common property resources’.

(b) Discuss the methods of internalizing the environmental externalities.

i ■
10x2=20

■W

4+6

2. (a) What is a free-riding problem ?

(b) How does it affect collective action in management of public goods ?
4+6

■ VJ.-.

' 3. Explain Material Balance Model. What are its limitations. 

4. (a) Explain ‘sustainable development’.

(b) Distinguish between ‘strong’ and ‘weak’ sustainability.

8+2
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(c) Does ‘sustainable development’ mean non-extraction of resources.
2+5+3=10 9. Theories of consumption functioa

10. Balanced vs unbalanced growth.

11. Rural credit in India : Problems, Nature and Remedies.

12. Measures of dispersion of statistical data.

13. Property Rights and management of resources.

14. Keynesian macroeconomic model.

15. India’s economic reform and development

16. Foreign Trade and Economic Development

Section - II

[Essay Type Questions]

Answer any owe question.

5? (a) How does the command and control approach become cost ineffective 
in case of

!
20x1=20

(1) technological standard and

® uniform standards.

(b) Is a cost effective solution possible in this respect ? Explain in a two- 
polluter framework using equi-maiginal principle of optimality.

10+10

6. (a) Define Environmental Externalities.

(b) Explain how distribution of benefits'of public goods is affected due to 
presence of externalities.

(c) Develop a model of environmental damage caused by negative
4+8+8externality.

Group - B

[Essay]

Write an essay on any one of the followings

7. Poverty and Unemployment in India.

8. Progressive Vs Proportional taxation.

50x1=50
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